Challenge 2

1. Highlight the multiples of six up to 100 on this 100 number square.
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2. Which of these numbers are NOT multiples of six? Circle them.
718, 18, 90, 74, 66, 58, 100, 99, 96

3. Insects have six legs. How many insects are there if I count. ..
a) 48 legs? ______
b) 84 legs?
c) 72 legs? _____
d) 24 legs?

e) 54 legs?



4. Stefan keeps stick insects as pets. Each carrier is a habitat for six stick insects. How many
carriers has...

a) 10 stick insects? _
b} 19 stick insects?

c) 50 stick insects?

5. Write your own word problem for this number sequence: 18 + 6= 3

6. Write your own word problem for this number sequence: 54 + 6 = 9




